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QUESTION 1
A developer is creating an XML schema using the xsd:all operator.

Given the code:

Which two element definitions, when inserted into the given schema fragment, result in a correct schema type
definition? (Choose two.)

A

B.

E.
F.

Correct Answer: AC

QUESTION 2

A JAXR client has established connection with a UDDI registry and needs to get a service bindingfrom the registry.
What is required to accomplish this task?

A. find the appropriate concept and then find the service binding associated with that concept
B. find the appropriate authentication token and then find the service binding associated with that authentication token

C. find the appropriate organization, get the tModel associated with that organization, and then find the service binding
associated with the tModel
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D. find the appropriate organization, find the services associated with that organization, and then find the service binding
associated with the service

Correct Answer: D

QUESTION 3

A client sends a required SOAP header as a SOAP message. The server-side process determines that information in
the header is invalid and generates a SOAP fault. What is the appropriate fault code for this type of SOAP fault?

A. Client

B. Server

C. MustUnderstand
D. VersionMismatch
E. HeaderError

F. InvalidHeader

Correct Answer: A

QUESTION 4

Which two statements are true about elements in a WSDL document? (Choose two.)

A. Operation is an abstract set of port types supported by one or more endpoints.

B. Service is an abstract set of operations supported by one or more endpoints.

C. Message is an abstract description of an action supported by the service.

D. Operation is an abstract description of an action supported by the service.

E. Binding is a single endpoint defined as a combination of an operation and a network address.
F. Message is an abstract, typed definition of the data being communicated.

Correct Answer: DF

QUESTION 5

A purchase order Web service is designed to be synchronous, request-response, and HTTP- based. The existing
service processes the request immediately. Because of new business requirements, the service can take up to ten days
to perform a credit check before processing the order. Which two design changes need to be made? (Choose two.)

A. The client needs to use dynamic proxies instead of stubs.

170-863 PDF Dumps | 120-863 Exam Questions | 1Z0-863 Braindumps 3/4


https://www.pass4itsure.com/1z0-863.html
https://www.pass4itsure.com/1z0-863.html
https://www.pass4itsure.com/1z0-863.html

. VCE & PDF https://www.pass4itsure.com/1z0-863.html
E 2024 Latest passditsure 120-863 PDF and VCE dumps Download

PassditSure.com

B. The client needs to develop and deploy a Web service to accept callbacks.

C. The service only needs to change the WSDL from rpc-literal to document-literal.

D. The client and the service need to establish a mechanism to correlate the messages.
E. Given delays of up to ten days, a polling strategy is more efficient than callback.

Correct Answer: BD
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